—~
k=)
©
=
=
o
[
[}

2 3

a(d cot(B))

-1 0 1 2 3

—— oTt g:re?, SO—etatpHty2D o)

— R BEt€ e 2. 1to etalp6to

p—— DIXE|CPETemplatecuils areT(—sie 020 eta; 0
J——i— —pixe|CPETemplareCurChixquaretr—Step—prItoZ0—era’ {9)
—— —pixe|CBETemplateCutCnisquare2f—steps—pilioj0—eta; 0
— —pixelCPETeémplateCutChiSquare30—stép2—ptito20—eta: 0

o |y
o F
© F
¥ 1.05F
1
0.95 £
23
=107
S F
Q -
- -
=
>
o L
(o]
o L
o]

=
<
N

1072
1.4

Ratio

1.2

- - - - -

2 3

a0 p,/p,)

107

Jo G e
|
N

2 3

TP n (PCA to beamline)

z

o(d d.) (cm)

TP n (PCA to beamline)



	Contents
	Page 1


